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: Nicathophie won the lottery! The lottery payment can be collected in one of two ways

Nicathophie can either take $1000 a week for 20 years, or he can take one lump sum

payment today (or take a payment “presently”). What 1s the Present Value of the $1000
per week annuity assumjng an interest rate of 8% cﬂmpﬂunded monthly?
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? Example 7.2.2

Danevaphia want to be able to withdraw $2500 a month, for 25 years, when she retires.
- How much money does Danevaphia need to have 1n an account which pays 4.8% interest
: compounded monthly 1n order to pay for her retirement annuity?
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Example 7.2.3
From your text: Pg 425 # 12
Jeongsoo borrows money to buy a computer. She will repay the loan by

- making monthly payments of $112.78 per month for the next 2 years at an
: interest rate of 7.75% per year compounded monthly.

B a) How much did Jeongsoo borrow?

' b) How much interest does Jeongsoo pay?
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E Example 7.2.3

- From your text: Pg 425 # 12
Jeongsoo borrows money to buy a computer. She will repay the loan by

making monthly payments of $112.78 per month for the next 2 years at an
interest rate of 7.75% per year compounded monthly.

B /Aa) How much did Jeongsoo borrow? 34(
: b) How much interest does Jeongsoo pay? | .
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